Te3d Ifeddca WAL g I, Ua"

To3-9, Wan.g.eh. duden, ffonwr 9, 251 HiS, 23-8, 15T, 36 &. 0172-2212221

<
AYI frgr fiftmir were (),
AHJ AgS ot ({grrdie gt )
AEUZ it
Wt &.acerl, 00/Vp/202126753 ) 3t - 17-mov. 5oz |
ferr:: 6993 st (6, 78, w3 9 ) € oH-1 @ WIS W3 Mt fel @
H'3B YHe U3gt Het)

1.0 f@u@asﬁﬁe"sfmmésérﬂwsﬂérwéﬁh

20 637 w3 9&%@2@-1@%@;&@%@@%@3
U3s f3rg a3 o8 951 fon § WM =391 3 fefenras & Ags3 se

Www.ssapunjab.org & website 3 WUZF i3 7 fgar I

-6, 7 w3 9F M3 & cor-1° wiedet w3 AR o) @ W3s yis

}1-‘1'33!
<

*ﬂﬂ.ﬂ”r.éhnia/z'_r. Urrs|



Sample Paper English
TERM -1
CLASS - IX :
Maximum Marks: 40
Section A - Reading Skills

Read the passage carefully and answer the questions that follow. 5 Marks

I have heard nearly as much nonsense about zoos as I have heard about God and religion.
Well-meaning but misinformed people think animals in the wild are "happy" because they
are "free". These people usually have a large, handsome predator in mind,a lion or a
cheetah. They imagine this wild animal roaming about the Savannah on digestive walks after
eating a prey that accepted its lot piously, or going for calisthenic runs to stay slim after
overindulging. They imagine this animal overseeing its offspring proudly and tenderly, the
whole family watching the setting of the sun from the limbs of trees with sighs of pleasure.
The life of the wild animal is simple, noble and meaningful, they imagine. Then it is captured
by wicked men and thrown into tiny jails. Its "happiness" is dashed. It yearns mightily for
"freedom" and does all it can to escape. Being denied its "freedom" for too long, the animal
becomes a shadow of itself. Animals in the wild lead lives of compulsion and necessity
within an unforgiving social hierarchy in an environment where the supply of fear is high
and the supply of food is low and where territory must constantly be defended and parasites
forever endured. What is the meaning of freedom in such a context? Animals in the wild are
in practice, free neither in space nor in time, nor in their personal relations. In theory- that
is, a simple physical possibility - an animal could pick up and go, flaunting all the social
conventions and boundaries proper to its species, if a man, boldest and most intelligent to
creatures, won't wander from place to place, a stranger to all, beholden to none, why would
an animal, which is by temperament far more conservative? The small changes can upset
them. They want things to be just so, day after day, month after month.

Q.1 Those who think that animals in the wild are happy are.......ccoeersercennennees «
a. uninformed b. misinformed

c¢. well-meaning but misinformed d. not sufficiently awakened

Q.2 When wild animals are captured and thrown into tiny jails....cceeemvennneee «
a. they feel restless b. their happiness is dashed

c. they lose interest in everything d. all of these

Q.3 Choose the incorrect statement-

a. Some people think that the life of wild animals is simple, noble and meaningful.
b. Animals in the wild lead lives of compulsion.

c. Animals m the wild are free neither in space nor time.

d. Animals by temperament are not conservative.



Q.4 Choose the correct synonym for the woxd 'conservative'.

a. Iiberél b. progressive c. modern d. orthodox
Q.5 What message does this passage convey?

a. Animals in the wild are happy.

b. Animals'in the wild lead a simple and noble life.

c. It contradicts the view that animals in the wild are happy as they are free.

d. It contradicts the view that animals in the wild are not happy as they are free.

Section B - Literature and Poetry 15 Marks
Main Course Book (Questions from 6-11)
a. Clu;ose the correct option for the following questions. 6 Marks
6) Whom did Abraham Lincoln write the letter to? (Grooming of a Boy)
a. his son b. his daughter " c.his sﬁn’s teacher d. his son's friend
I) Where did Bose go for higher studies? (Plants also Breathe and Feel)
a. England b. Europe c. Italy d. Egypt
8) Where did Bose display his machine? (Plants also Breathe and Feel)
a. at the Paris Science Congress b. at the England Science Congress
c. at the convocation of the University of Mysore d. during his job in Kolkata
9) Wl\gse power is greater than that of money? (Budgeting Your Time)
a. power of man b. power of time
¢. power of human relationships d. all of these
10) How old was Sher Singh? (Journey by Night)
a. ten yearé old b. twelve years old c. eleven years old d. fifteen years old
11) How far was the hospital where Kunwar was to be taken? (Journey by Night)
a. 40 kilometers away b. 80 kilometers away

c. 80 kilometers away d. 60 kilometers away




b. English Supplementary Reader (Questions from 12to 16) 5 Marks

12) Whom aid the boy ask for work? (The Magic Violin)

a. the beggar. . b. the magistrate c. the hangman d. the farmer

13) How much did the farmer pay to the boy as wages? (The Magic Violin)

a. three copper coins b. three silver coins  c. three gold coins  d. three brass coins
14) What excuse did Sushil make for not going to school? (Wishes Come True)

a) tummy ache b) severe cold c) high fever d) severe headache

15) How were Subhalchandra and Sushilchandra related to each other? (Wishes Come
True)

a. They were close friends. . b. They were father and son.
c. They were cousins. d. They were neighbours.
16. Where did the villagers go for safety? (In the Flood)
a. to the palace b. to the village school  c. to the fields d. to the village temple
c¢. English Main Course Book (Poetry) (Questions from 17 to 20) 4 Marks
A:Read the stanza below and answer the questions that follow:
a) Deliverance? Where is this deliverance
to i)e found? Our master himself
has joyfully taken upon him the bonds
of creation; He is bound with us all forever. |
Q17) Choose the correct option which depicts the name of the poem and the poet.
a. Open Thy Eyes and See Thy God by Rabindranath Tagore
b. No Men Are Foreign by James Kirkup
c. Excelsior by HW. Longfellow
d. The Nightingale and the Glow - worm by William Cowper
18) Who is our master?

a.God b.money c. power d.none of these



B) Understanding based questions from the poetry section:

19) God can be found by........ccccumenninannnee (Open Thy Eyes and See Thy God)
a. chanting hymns b. telling the beads
c. praising Him day and night d. none of these

20) What is the theme or central idea of the poem "No Men are Foreign"?
a. All men are foreign and all countries are strange.’
b. No men are foreign and no countries are strange.
c. We all are strangers and we live in foreign countries.
d. We should hate foreigners and strangers.
Section C - Vocabulary 3 Marks
Answer the following questions by selecting the most appropriate options:
21) Choose the best suited meaning for the statement given below:
Raghu is well set in his new job.
a. started b. settled c. fixed d. bothaand b

22) Get your luggage booked. (Choose the correct part of speech for the underlined
word)

a. noun b. verb c. adjective d. adverb

23) Choose the correct synonym of the word ' begin'.

a. ended b. start c. close d. finish

Section D - Translation, Grammar and Composition 17 Marks
a) Translate the following sentences from English to Punjabi: (2X1=2 Marks)
24) Steer him from envy.

a. @A & Slou agal finerG /3w #r §ut F3= Rramsi
b.@Ag o Iga 3 AQl/ s Ay A At -

.87 § Gowr &l agst gt/ 38 #1§ &t aft 7=+ afyel
d. flov w9 gt ats A1/ de s g ara



25). ﬁere are no men in the village.

a.filz &g A8 wrerit 533t 1/ g & Fi e gt ¥

b fil e 36 et &l Fis 1/ e 3 v s ot 2
c.fifz &g d wrerit &t I\Ir1/ 7T & P e €t Bami
d.fiiz f&o 6t wrerit A 1/91T & F§ aresht 9

b) Translate the following sentences from Punjabi to English.(2X1=2 Marks)
26. Withrus Us &t ugr gar #ti/ IEATIF 9TS e 9eT o1 Tl

a. The teacher had not taught the lesson.

b. The teacher has not taught the lesson.

¢. The teacher will not teach the lesson.

d. The teacher would have taught the lesson.
27. gon you & fsamer 31 /A & ¥ Prwaar ¥

a. The sun rises in the east.
b. The sun has risen in the east.
c. The sun will rise in the east.
d. The sun had risen in the east.
c.Grammar (Do as directed:) (8 Marks)
Answer the following questions by selecting the most appropriate option.
28. Fill the blanks with suitable determiners. (28-29)

Have you got butter?

a. any : b. some c.an d. every
29. Gita is intelligent girl.

a.a b. an c.the d.none of these

Fill the blanks with suitable prepositions.(30-31)
30. I feel no appetite food.

a. of b. for c. with d. to



31. Distribute these books the students.

a. with b. among . ¢. between d. to

Select the correct clause for the underlined paxt.

32. The boy who is wearing red shirt is the monitor.
a. Adjective clause b. Adverb clause c. Noun clause d. Main clause

Choose the correct passive forms of the given sentences.(33-34)
33. She will water the plants.
a. The plants will be watered by her. b. The plants will watered by her. ‘
c. The plants would be watered by her. d. The plants were watered by her.
34. Whom do you love?
a. Who was loved by you? b. Who is loved by you?
c. By whom are you loved? d. Who loved you?
35. Choose the correct verb to fill the blank.
Time and tide for none.
a. wait b. waits C. is waiting d. will be waiting
d) Composition Part: (36 to 38)

Read the following and answer the questions with the help of the given reference.

Mr. Bedi is our neighbour......... a retired professor........ in spite of his old age........ very
active.......... man of some good qualities......... very helpful to poor and needy

people......... involved in many social activities....... set up an orphanage and a dispensary in the
village......... everyone respects him

36. Choose the most appropriate description of a neighbour from the following statements.
a. The name of our neighbour is Mr. Bedi and he is a very active person.

b. He is a retired professor but even after retirement he never remained idle.

c. He is an active member of our village and he is quite young in his age.

d. He is involved in many social activities and he is a respectable man.

31. Choose a word from the options to complete the sentence meaningfully.

After his retirement, he did not sit and engaged himself in social work.

a. idle b. properly c. in his room d. anywhere




38. Select an appropriate sentence for concluding the paragraph.

a. To sum up, people have great respect for him because he is a nice and helpful persoﬁ.
b. Mr. ﬁed.i is my neighbour and he is around 82 years old.

c. He was a professor in Mathematics and now he is a retired person.

d. He is not an idle person and has opened a dispeﬂsary in the village.

e.Choose the correct options with reference to an Email. (39 to 40)

39. The e-mail address of the person whom you are sending the email message should
be typed in the ___slot.

a. from b. to c.Cc d. Bcc

40. Which among the following are some commonly used short forms (acronyms)
understood by the e-mail users ?

a. ADN b. BBL c. DIKU d. All of these



Subject- English
Sample Paper (Term I)
Session 2021-22
. Class VI
Time: M.M.40

General Instructions:

1. The Question Paper carries 40 questions.
2. Each question consists of 1 mark only.

3. All questions are compulsory.

4. No choice is given in any of the question.
5. There is no negative marking.

Section-A (Reading Skills)
Read the passage and answer the questions (1-4) that follow:

All the animals of the forest gathered to elect their new king. They chose the monkey
because they were amused by his fun elements. The fox was very disappointed at

not being chosen and waited for a chance to get mock the monkey. One day, he

found a piece of meat on a path. He realised at once it was the bait for a trap. But off

he went to the monkey and offered to show him where it was, as sign of his loyalty.

The monkey king at once fell into the trap and the fox burst out laughing.

‘With so few wits, you cannot even rule yourself; let alone animals.’

1. Why did the animals elect the monkey as their king?
a. because he was very intelligent
b. because he pleased the animals with his funny tricks
c. because he could climb the highest trees
d. because he was liked by all in the forest
2. Why was the fox disappointed?
a. because he wanted to become the king
. b. because he was not chosen the king by the animals
c. both‘a’and ‘b’
d. none of the above
3. Why did the fox show the piece of meat to the monkey?
a. out of loyalty '
b. out of disappointment
c. just for fun
d. to prove the monkey stupid
4. Which word in the passage means ‘food which is put to catch animals’?
elements
wits
bait
amused

apow



-

Read the dialogue and answer the questions (5-8) that follow:
Mansi: Hey Mehul!

Mehul: Yes Mansi, what is wrong?

Mansi: Oh Mehul! | need your help. Can you help me please?
Mehul: Mmm.....Yes | can. But what happened?

Mansi: | have a project that | have to finish until tomorrow. | thought | could finish it
on my own but | couldn’t. Now, | am helpless and don’t know what to do.
Mehul: Calm down. Tell me what is it about?

Mansf: It is an English project. It is about the difference between British and
American English words.
Mehul: But | am not good at English......You know.....

Mansi: Hmmm.....Hey, you said you had a cousin teaching English in Government
School. She may help us.

Mehul: Ohh right! We can take her help. We can ask our questions and she can
answer.

Mansi: Yeah, great idea! Then let's go to her place.

Mehul: Ok Mansi. Just wish that she might be free and help us.

What is the conversation about?

o

. English Project
Government School
Mehul’s cousin

Teaching English

Who is given a project?

oo oo

Mehul

Mansi

English Teacher

Mansi’s cousin

What is the topic of the project?

Nao T

British English Words
American English Words

. Differentiate British and American English Words
Find British and American English Words

ao oo



8. Who teaches English in Government School?

Mansi’s cousin brother
Mansi’s cousin sister
Mehul’s cousin brother
Mehul’s cousin sister

ap oW

Section-B (Literature) -

9. What present does the mother get from the cow? (The Farmhouse Cows)
a. milk
b. cream
¢. a loaf of bread
d. a piece of cheese
10. What was close to the lake? (The Lake of the Moon)
a. a big forest
b. a colony of rabbits
c. a herd of elephants
d. the moon
11. What did the little rabbit climb? (The Lake of the Moon)

a. a mountain
b. a lake
c..a huge rock
d. on the back of the elephant
12. Why did the boy want to go to another city? (The Giving Tree)

a. to do a business
b. to get married
c. to roam around
d. to sell apples
13. What did the crow not like about himself? (The Peacock and the Crow)

a. his colourful feathers
b. his friends-
¢. the peacocks
d. his black feathers :
14. What did the crow see on the ground? (The Peacock and the Crow)

a. peacock feathers
b. his own feathers
¢. his reflection
d. the other crow’s feathers
15. What is the meaning of the word ‘delicious’? (The Farmhouse Cows)

a. Aner
b. azr
c. U39
d. 5"



16. What is the meaning of the word ‘swift’? (How Beautiful is the Rainl)

a. &t
b. 3%
c. Hg=r
d. st
17. Fill in the blank with a suitable word.

The boy cut off the branches to make a . (The Giving Tree)

a. boat
b. money
c. tree
d. house
18. Who said these words and to whom?

“We should accept ourselves the way we are.”
(The Peacock and the Crow)
a. The crow
b. The crow’s friends
¢. The old crow
d. The peacock
. Read the given stanza and answer the questions (19-20):

| brought home a puppy
He looked very happy! (My Furry Friend)
19. What did the poet bring home? ’

a. a young dog
b. a young cow
¢. a young lion
d. a young cow
20. Who looked happy?
a. the poet
b. the puppy
¢. both of the above
d. none of the above
21. Which are the places where the rain falls? (How Beautiful is the Rainl)
a. wide streets
b. narrow streets
¢. both ‘a’ and ‘b’
d. only ‘b’
22. What gushes and struggles out? (How Beautiful is the Rain!)
a. the roofs
b. the rain water
¢. the tides
d. the river



23. Fill in the blank with correct collective noun.
A  of fruits.

a. bouquet
b. bunch
¢. basket
d. pack
24. What is the opposite of the word ‘give’?
a. sad
b. take
c. buy
d. go
Section-C (Grammar and Writing)

Choose the correct translation of the following sentences. (25-28)

25. Let’s play a game.

a. & & 33 astE|
b. af & f&x ¥F 8327
c. n€ 83 Uz a7 ¥ste |
d. fx a3 aste|

26. Don’t stand here.

a. ffg u3 32

b. 3 J=

c. Y3 & <

d. 9 ¥3 & 32|
27. ¥rete de a9 fef

a. Switched off the light.
b. Switch off the light.
c. Switch on the light.
d. Switched on the light.
28. vy &N S|
a. Do work.
b. Work well.
c. Do your work.
d. Don’t work.
29. Tell the Proper Noun in the given sentence.

Harjot wants some ice-cream.

Harjot
wants
some
ice-cream

apoe



30. What is the plural of ‘ox’?

a. oxs
b. oxes
C. oxen
d. oxens
31. What is the gender of ‘gander’?

a. niece
b. goose
C. grandson
d. nephew
32. Put comma, full stop, capital letter, question mark wherever needed.

please get biscuits vegetables fruits and some nuts from the market

a.
b.
c.
d.

Please get biscuits vegetables fruits and some nuts from the market.
Please get biscuits, vegetables fruits and some nuts from the market
Please get biscuits, vegetables fruits and some nuts from the market.
Please get biscuits, vegetables, fruits and some nuts from the market.

33. Use capital letters where needed in the sentence.

does pratima live in mumbai?

a.
b.
c.
d.

Does pratima live in mumbai?
Does Pratima live in mumbai?
Does Pratima live in Mumbai?
Does Pratima Live in Mumbai?

34. Fill in the blank with a suitable pronoun.

bike is that?

a. whom
b. whose
c. what
d. who
35. Fill in the blank with a suitable pronoun.

Are your shoes?

a.
b.
C.
d

that
them
those
this

36. Which of these lines can be included in the paragraph ‘Cow’?

a. We cannot be friends with cows.

b. The cow gives us delicious things.

c. A cow is a useless animal.

d. We become unhealthy with the milk of cow.



You have to write a letter to your uncle thanking him for the beautiful gift he
has sent to you. Answer the given questions accordingly. (37-38)

37. Whose address would be written in the beginning?

a. receiver
b. sender
c. post office
d. none of the above
38. Where would you write the date?

a. after address of the writer

b. after body of the letter

c. in the end

d. no date would be there in the letter
You have to write a letter to your friend to invite him for your birthday party.
Answer the given questions accordingly. (39-40)
39. How would you begin the body of the letter?

a. You will be glad to know..........
b. You will be sad to know...........
c. You will be sorry to know.........
d. You will be unhappy to know......
40. How would you conclude/end the letter?

a. | am sure you will regret yourself.

b. | am sure you will not enjoy yourself.
c. I am sure you will enjoy yourself.

d. None of the above
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Class: 6t Sample Paper Social Science (15t term) 2021-22
Total: 40 Marks

All quesﬁons are compulsory:-

1. How many days does the Moon take to revolve around the Earth?

a) 88 days b) 27 days 7 hours c)28days  d)27days

| 2. When we look closely at the stars at night, we see many shapes in the form of clusters
of stars. These clusters of stars are called 'constellations’. The name of the
constellation 'Sapat Rishi' has been prevalent among them since ancient times. How
many stars does this constellation have?

| (a) Five (b) Seven (c) Nine (d) Twenty Seven
3. Because-the sun is heavier and bigger, it controls the movement of all the planets
remotely with its great power. What is this power of the sun called?

(a) Solar power (b) Celestial power
(c) Collective power (d) Gravity
4. Which is the hottest and brightest planet of the Solar System?

a) Mercury b) Venus c) Earth d) Saturn

5. How are the days and nights formed?
a. Due to revolution b. Due to rotation
c. Due to night speed d. None of the above
| 6. On which imaginary line does the vertical rays of sun fall on 21 June?

a. Tropic of Capricorn b. Equator
c. Tropic of Cancer d. On all latitudes
7. What will be the next year of leap after 2021?
(a) 2022 (b) 2024 (c) 2026 (d) 2030

8. Harleen Iiveé in such a place where days and nights are equal throughout the year.

Where does he live?
| a. Tropic of cancer b. North Pole c. Equator ~ d. Tropic of Capricorn.

9. Itis thé imaginary line that divides the earth in two equal parts or halves.

a) Equator b) Tropic of Cancer

d) None of the above

c) Tropic of Capricorn




10 like a huge sphere. We cannot see the whole earth at Therefore, in
order to see and examine the whole earth, a model of it has been made. What is this
model called? '

a) Universe b) Hemisphere

c) Earth-sphere d) Globe

11 Which latitude passes through Australia?

a) Tropic of Cancer b) Equator

c) Tropic of Capricorn , d) None of these

12. Scientists have drawn imaginary lines in an east-west direction to study the globe
and the earth. All these lines are spherical in shape. These are called latitude or
longitude lines. Which line are they not parallel to?

a) Tropic of Cancer b) Trdpic of Capricorn

c) Prime meridian d) Equator

HISTORY

13. History is a description of which of the following time.

A) past B) present C) future D) All of the above

14. Rajesh's father studies past events and writes about them. What is Rajesh's father?

a. Biologist b. Teacher
C. Historian d. Physicist
15. Identify the type of the source of history from the given picture.
a. Home g
b. Monument

c. Literary source
d. None of these

16. In whét age did man begin farming?
A) In the ancient Stone age (B) In the Middle Stone Age

(C) In the new stone age (d) All of the above

17. The Early man was also fond of painting. He did this painting in caves. The main

subject of his paintings was hunting. We have come across many such paintings from a

place called BhimBaithaka in India. Do you know in which state is this place located in

modern India?



a. Punjab
b. Madhya Pradesh
c. Rajasthan
d. Gujarat
18. Who invented fire?
a) Scientist b) Early man c) Engineer  d) Modern man
19. With which country did the people of Indus Valley civilization has trade relations?

(A) Mesopotamia (B) Egypt
(C) China (d) Australia

20. This is a map of a great and primitive civilization of India. This civilization flourished
| between the Indus and the river Saraswati. Guess from the area shown in the map which
| civilization is this?

- a) Chinese civilization

b) Egyptian civilization

c) Indus Valley Civilization

d) Mesopotamian civilization

21. The place shown in the picture belongs to the Indus Valley and was located near the
sea in the state of Gujarat, India. A port has been found during excavations at this place.
Which place is this?
a) Harappa

b) Sanghol

c) Lothal

d) Mohenjo-daro

22. Agriculture was the main occupation of the people of Indus Valley Civilization. But |
people did some other works also. Bead making was also a major occupation. Do you
know from where was the bead factory excavated?

a) Sanghol
b) Rangpur
c) Lothal

d) Kalibanga
23. In the Vedic period, which river was considered to be the most sacred?

A) Yamuna B) Sarasvati = C) Ganga D) Ravi

24. Which was the smallest unit in the society during Vedic period?

A) Family B) Village C) Mohalla D) Society




| 25. A play is to be performed in your school. This play is related to Vedic period. In it you
are playing the role of an assistant to the king, who performs the king's religious duties.
Which of the following role are you playing?

a. Gramini b. Senani c. Purohita d. Rajan
26. Jaswinder brought two books 'Ramayana' and 'Mahabharat' from the library. He

wants to know what kind of literary books are these?

a.Vedas b. Epics ¢. Upanishads d. Puranas
| 27.Bhagwan Mahavir Swami ji was honored to be tirthanakara.
(a) 23rd B) 24th C) 25t d. 26"

| 28. Under which tree did Gautama Buddha get enlightenment?
a) Peepal b) tree c) Neem tree d) Mango tree

29. Suppose you are over 75 years old. Following the Ashram system, which of the
following Ashram should you join?

a. Brahmacharya b. Grihastha c. Sanyasa d. Vanaprastha

30 Where is Sanchi stupa situated?

| (a) Uttar Pradesh  (b) Madhya Pradesh (c) Bihar d. Punjab
31. When did Alexander the Great invade India?
(a) 326 B.C. (b) 328 B.C.

(c)324B.C. (d) 341B.C.

32. The following picture is of our national emblem .In fact this is a part of Emperor
Ashoka's pillar. This pillar is located at the place where Mahatma Buddha delivered his
first sermon. Do you know where is the pillar located?

a) Sarnath
b) Sanchi
c) Amravati

d) Koshambi

CIVICS

33. Which is the first and basic unit of the society for a child?

A. School B. Neighbourhood C. Family D. Friends

34. Which kind of feeling should not be there among the countrymen?

A. Love for Country B. Social values

C. Communalism D. Patriotism




[°35. In the beginning, human beings lived like wild animals. They killed wild animals to
feed themselves. How did humans begin their life? |

a. As a hunter

b. As a food gatherer

c. As a researcher d. None of the above

36. If we live in a village we have to depend on the city for some necessities and the
| urban citizens have to depend on the farmer for fertilizers. We are all dependent on each
| other, so what kind of creatures are we? |

(a) Social creatures (b) Hunting creatures
(c) Nomadic creatures (d) None of these

37. India is an agriculture based country, what percentage of Indian population live in
villages? '

a. 65% b. 45% c. 75% d. 55%

38. The employee who keeps the account of Panchayat’s expenditure and incomeis
known as:-

a. Sarpanch b. Superintendent
c. Panchayat Secretary d. Panch (a member of Panchayat)

39 Surjit completed his B.A. last year. He is unhappy with the work of the Sarpanch of his

village. He feels that he can further develop the village. He wants to contest for the post

of Sarpanch for which he should be .
a. 18 years b. 21 years c. 25 years d. 20 years

40. Pooja's mother wants to be a part of the village panchayat but she does not know

about the number of reserved seats for women in panchayat? Can you tell?

a. 1/2 part b. 1/3 part c.1/4 part  d. None of these




Subject- English
Sample Paper (Term I)
Session 2021-22
Class VI
Time: ' M.M.40

General Instructions:

1. The Question Paper carries 40 questions.
2. Each question consists of 1 mark only.

3. All questions are compulsory.

4. No choice is given in any of the question.
5. There is no negative marking.

Section-A (Reading Skills)
Read the passage and answer the questions (1-4) that follow:

Once there was a miser who sold all his possessions and, with the money, bought a
great lump of gold. He dug a deep hole at the edge of the garden, and there he
buried his gold. Once a day, thereafter, the miser would go to the garden, dig up his
gold, and embrace it lovingly. One of the miser's workmen wondered why his master
spent so much time in the garden. One day, he hid behind a tree and soon
discovered the secret of the hidden treasure. That night, when the miser was fast
asleep, the workman crept into the garden and stole the lump of gold.

When the miser found that his gold was gone, he pulled his hair and cried aloud in
despair. A neighbour came running to see what the matter was, and the grief-
stricken miser told him what had happened. Then the neighbour said,” Please stop
weeping. Go and find a stone. Place the stone in the hole and imagine that it is your
lump of gold. The stone will serve your purpose, because you never meant to use
the gold anyway.” :

“To a miser, what he has is of no more use than what he doesn’t have.”

1. How did the miser get the lump of gold?
_a. by selling all he had
b. while digging his garden
c. from his ancestors
d. from his neighbour
2. Why did the miser spend so much time in the garden?
a. He was a nature lover. |
b. He liked watching children playing in the garden.
c. To keep an eye on his hidden treasure.
d. To change the place of his lump of gold.
3. By whom was the gold stolen?
a. A thief
b. His neighbour
c. The miser's workman
d. The miser, himself




4. The neighbour advised the miser to put a stone in the hole
because
a. gold is like a stone only
b. the stone would become gold after sometime
c. for a wise man gold and stone have equal worth
d. the miser had never used the gold

Read the dialogue and answer the questions (5-8) that follow:
Drishti: Good Morning, Hardik. How are you?
Hardik: Good Morning! I'm alright, but it's too hot. Oh, it is simply terrible!

Drishti: True! | am not able to do any work. It is so close that
_one can hardly breathe.

Hardik: Even after using the fan whole day, | felt restless. When would the
monsoon break?

Drishti: There are no signs of it yet in Delhi, but | have just read in today’s paper that
it has reached Mumbai, and that there was a shower.

Hardik: It will take some days to reach here, and till then we must tolerate the heat
somehow.

Drishti: Exactly, we have to take care of our health and improve eating habits. We
should use the things which prevent us from heat. \

Hardik: Absolutely! We should drink plenty of water to avoid dehydration and carry
umbrella and water bottle to avoid heat.

Drishti: That's right! And we must pray for the early arrival of monsoon.

What is the conversation about?
cool weather
- hot weather
monsoons
advantage of water
Who felt restless even after using the fan whole day?
a. Hardik
b. Drishti
c. Both
d. Noone
7. What has reached Mumbai?
a. heat
b. drinks
C. sunrays
d. monsoon
8. What should be done to avoid heat?
a. improve eating habits
b. drink plenty of water
c. carry umbrella
d. all of the above

Sop oo o



Section-B (Literature)

9. Who did the farmer buy the well from? (Rent For Water)
a. King Krishna Dev Rai
b. Tenali Raman
c. the king's neighbour
d. his own neighbour
10. How much money did Akbar agree to give to the Brahmin?
(Birbal’s Khichdi)
a. two gold coins
b. two thousand gold coins
c. two hundred gold coins
d. one thousand gold coins
11. What was the boy selling? (A Glass of Mllk)

a. books
b. milk
c. pencils
d. glasses
12. What was written on the bill of the hospital? (A Glass of Milk)

a. Paid in full months ago with a glass of milk.
b. Paid in full years ago with a glass of milk.
c. Paid in full days ago with a glass of milk.
d. Paid in full hours ago with a glass of milk.
13. Who was the first Indian to climb Everest? (Mountaineers)

a. Tenzing Norgay
b. Sir Edmund Hillary
c. Commander M.S. Kohli
d. Captain Avtar Singh Cheema
14. What is the oxygen-starved area of the mountains called? (Mountaineers)

a. damage zone
b. death zone
c. adventurous zone
d. danger zone
15. What is the meaning of the word ‘pleaded’? (Rent For Water)

a. ¥53t SISt
b. g7997 dTE"
c. gfgn a7
d. s
16. What is the meaning of the word ‘precious’? (Trains)

a. gHAT®"
b. a3t
c. Gr3dt
d. 3




17. Who said these words and to whom?
“Oh Brahmin, you have cheated me!” (Birbal’s Khichdi)

a. Birbal
b. The emperor
¢. The messenger
d. Akbar
18. Who said these words and to whom?

“Your Majesty, it is impossible to get the warmth from the lights glowing
so far away!” (Birbal’s Khichdi)

a. The brahmin

b. The messenger
c. The king

d. Birbal

Read. the given lines and answer the questions (19-20):

Through day and darkness,
Through dusk and dawn.(Trains)
19. What do the above lines refer to? '

a. loads of the trains
b. constant working of the trains
¢. routes of the trains
d. failure of the trains
20. What do the ‘day and darkness’ and ‘dusk and dawn’ in these lines tell the
readers?
a. regularity of the trains
b. irregularity of the trains
c. journey of the trains
d. control of the trains
21. The hunter went on a journey to find some .
(The Hunter and the Deer)
a. deer meat
b. dog meat
c. horse meat
d. all 6f the above

22. The poet thought that the buck was begging for .
(The Hunter and the Deer)
a. the fawn’'s life
b. his own life
c. the doe’s life
d. the hunter’s life



23. Insert ‘instead of’ in the following sentence, wherever needed:
| wore blue socks red.

a. | wore instead of blue socks red.
b. | instead of wore blue socks red.
c. | wore blue instead of socks red.
d. | wore blue socks instead of red.
24. Which suffix is used in the word ‘disappointed’?
a. -appointed
b. -ed
c. -ted
d. -inted
' Section-C (Grammar and Writing)

Choose the correct translation of the following sentences. (25-28)

25. | am proud of you.

a. g 393 3 HE J1

b. ot Ag I3 3 HE I?

c. A3 3T'3 3 H'E A

d. #g 303 3 HE &t T
26. My mother cooked food.

‘a. & AT HFf & urEr uafemT?
b. ATt vt & wraT &It yarfenr|
c. At vt & yiEr yarfenT 1
d. At Wt 3 wiEr yarfenii

27. & a1 fort & wee a9 faar 97

a. Are Ram helping Nishi?
b. Is Ram helping Nishi?
c. Is Ram not helping Nishi?
d. Am Ram helping Nishi?
28. 8rg Fwz fel
a. Let them speak.
b. Let he speak.
c. Let him speak.
d. Let you speak.
29. Tell the Abstract Noun in the given sentence.

| have full trust in my maid.

a. full
b. trust
c. my

d. maid



30. Fill in the blank with a suitable conjunction.

I am feeling sleepy | am very tired.

a. although
b. yet
c. because
d. so
31. Fill in the blank with a suitable adverb.

When do you go on vacation each year?

a. always
b. never
¢. usually
d. ever
32. Fill in the blank with appropriate degree of adjectives.

The white dog was the of all.

a. greedy
b. greedier
c. greediest
d. most greedy
33. Use correct degree of comparison in the given sentence.

That is the (small) umbrella | have ever seen.

a. smaller
b. more small
c. smallest
d. most small

34. Fill in the blank with a suitable determiner.

There is a bus 2 hours.

a. each
b. every
c. many
d. few
35. Fill in the blank with a suitable pronoun.

He gave a beautiful gift. | really like it.
a. me '
b. him

c. himself
d. myself



You are the Principal of your school. Your school is going to hold a science
exhibition on the 15t of next month. It is mandatory for all the students to
participate and make a science project. Answer the following questions
according to the notice you would put up on notice board. (36-37)

36. What would you write in the notice?

a. ltis optional for all the students to participate.

b. Itis compulsory for all the students to participate.

c. ltis unnecessary for all the students to participate.

d. Itis insignificant for all the students to participate.
37. What would you write in the end?

a. Your signature and designation
b. Your school name
c. Date
d. All of the above
38. Which of these lines can be included in a paragraph ‘A Journey by Bus’?

a. The guard showed the green flag.

b. | got a comfortable seat by the window.
¢. The bus was running fast on the track.

d. The passengers fastened their seat belts.

You have to write an application to the Principal of your school asking him/her
to grant you full fee-concession. Answer the given questions accordingly. (39-
40) '

39. What would you include in the application?

a. station where you are moving to
b. financial condition of your family
c. poor school results
d. precautions to be taken to cure disease
40. How would you concludel/end the application?

a. Yours lovingly

b. Yours friendly

c. Yours obediently
d. None of the above
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SAMPLE PAPER TERM-1 (2021-22)
CLASS: 7t SOCIAL SCIENCE

All questions are compulsory Total Marks: 40

1 Which planet of the solar system has no atmosphere?

1. Mercury
2. Saturn .
3. Earth

4. Mars

2. Children, which of the following way should we adopt to keep our environment

clean?

1. Plant trees 2. Cutting trees 3. Setup factories 4. None of the above

3. One day, Vikas went out for a walk with his father early in the morning. On the

way, he saw many plants, birds, animals and many more creatures. Can you tell,
what are all these creatures known as?

1. Lithosphere

2. Hydrosphere

3. Biosphere

4. Atmosphere

4. Which of the following statements is wrong?

Statement -1 = Ocean currents and tides affect the adjoining areas.
Statement -2 = Man has not polluted his surroundings.

1. Statements (1) and (2) are correct.

2. Statements (1) and (2) are incorrect.

3. Statement (1) is correct and (2) is wrong.

4. Statement (1) is wrong and (2) is correct.

5. Which type of soil is found in the highlighted area in the

given map?

1. Black soil

2. Red soil

3. Alluvial soil

4. Laterite soil . :

6. These days, I am so important that I am also known as liquid gold. What is my

name?
1. Uranium

2. Petroleum
3. Thorium

4. Water




“7. This basic igneous rock is used to make electric appliances. This rock changes |

into Schist after conversion. Which of the following is this?

1. Mica

2. Gneiss

3. Gabbro

4. Slate :

8. Look at the picture and identify the metal of which the following things are made

of.

9. Whenever Ram goes out, he makes excessive use of perfume. Tell what role is he
playing in the environment?

1. He is decreasing air pollution.

2. He is increasing air pollution.
3. He is increasing amount of oxygen.

4. He is cleaning the air.

10. Which of the following layers of atmosphere is the best for flying aeroplanes?
. Mesosphere

. Stratosphere

3. Atmosphere

4. Troposphere

11. Sukhjit lived in a village. Once he went to Delhi to meet his uncle. While coming
out of the station, he found difficulty in breathing due to the scooters, buses and
construction work. His father told him that:

1. It is happening due to air pollution.
2. It is happening due to fatigue.

3. It is happening due to water pollution.
4. It is happening due to less space.

~ 12. Sukhbir was listening to a program on the radio. Suddenly, he asked his mother,
who is a Social Science teacher, how can we listen to a radio broadcast? His mother
replied that a lot of electrically chargedl particles are found in our atmosphere which
help in the reflection of the radio waves back to the earth and stop them from going in
the space. Which sphere of atmosphere are these electrically charged particles found
in?

1. Ionosphere

2. Mesosphere
3. Troposphere
4. Stratosphere




~ HISTORY

13. What was India named in vedic period?
1. Bharatvarsh

2. Hindu

3. Aryavrata

4. Indus

14. Suppose your teacher has assigned you to collect information on the medieval
period and write an essay on it. From where will you get the information about it?

1. Travelling buildings of that period

2. After seeing coins of that period in museum

3. After reading books related to that period

4. Al of the above

15 Which of the following countries is not included in the Indian subcontinent?

1. Bhutan
2. Nepal '
3. Maldives

4. Bangladesh

16. Which of the two rivers did the kingdom of Rashtrakuta exist between?
1. Krishna and Tungabhadra

2. Narmada and Tapti

3. Godavari and Mahanadi

4. Ganga and Yamuna

171. Which of the following rulers of Chauhan dynasty is shown in the given pxcture"
1. Prithviraj Chauhan

2. Mohammad Ghori

3. Mehmud Ghaznavi

4. Akbar
18. No sooner did the teacher enter the class, than she told the students that she

would take them to the Temple from where Mahmud Ghaznavi looted all the Gold,
Silver and other ornaments. This temple is in Gujarat. Can you tell which temple is
the teacher talking about?

1. Somnath temple

2. Sun temple

3. Kailash temple

4. Rath temple
19. During the Chola rule, how many units was every village divided into ?

1. three 2. two 3. four 4. ﬁve

20. Palavas became powezrful during 5 and 6* century. They made Kanchi as their
capital. Palavas became powerful after the end of dynasty.

1. Pala dynasty 2. Satvahana dynasty

3. Chola dynasty 4. Pandya dynasty




21. Suppose you visited a village at the time of Chola dynasty. You saw that all adult
men gathered to settle a dispute. On this basis can you tell that what was this
administrative unit called?

1.Urx 2. Veledu
3. Sabha 4. Mandlam
22. Who started the construction of Qutab Minar ?

1. Balban 2. Iltutmish

3. Qutab-ud-din Aibak 4. Karam Shah
23. Who was the founder of the Khalji dynasty?
1. Jalal-ud-din Khalji 2. Taimur

3. Mohammad Bin Tuglaq 4. Akbar

24. Suppose you are a farmer. Your king charges a nominal land tax. He has made
good irrigation system by making canals for good produce. Sometimes he waive off
the farmer’s loans. Who is your king?

1. Sikandar Lodhi 2. Khizar Khan
3. Feroze shah Tughlaq 4.Ibrahim Lodhi

25. Suppose you follow Islam religion and you are living in Delhi Sultanate time.

Government collects property tax at the rate of 2.5 % from you. Which of the
following tax are you paying?

1. Jizya | 2. Zakat

3. Kharaj 4. Khams

26. Tell the ruling period of Aurangzeb, the last famous Mughal emperor.
1. 1564-1574 AD
2. 1658-1707 AD
3. 1708-1718 AD

4. 1650-1670 AD
27. Which mughal emperor ordered to execute Guru Teg Bahadur ?

1. Akbar ' 2. Shah Jahan

3. Aurangzeb 4. Jahangir

28. There were many revenue systems during Mughal era. According to one such
systems after the harvest, the produce was divided into three parts. One part of it
went to the government as revenue and other two remained with the farmer. Do you

know the name of this system?
1. Kankut System 2. Nasak System 3. Batai System 4. None of these

29. During the time of Akbar, revenue was collected on the basis of land fertility. One
type of land, where cultivation was done after one or two years, was charged with

little amount of tax. Can you tell what was this type of land called?

2. Chhachhar 3. Parauti 4. Barren




~30. The Kailas
you tell the name of the ruler who built this temple?

1. Akbar

2. Shah Jahan

3. Rajendra Chola
4 Krishan -1

31. The Taj Mahal is a mixture of many architectural styles. It is built of white
marble. How many varieties of precious stones were imported from other countries to
decorate it?

1. 10 type

2. 20 types
3. 30 types
4. 40 types

32. Suppose you are going to Ajmer. Hereis a tbmb of a famous Sufi saint. Can you
tell which Sufi Saint’s tomb will you visit?

1. Nizam-ud-din Auliya 2. Muin-ud-din Chishti
3. Sheikh Farid 4. Shekh Salim Chishti

CIVICS

33. In modern times, which govt is considered the best govt.?
1. Dictatorial 2. Democratic 3. Autocratic 4. All the above

34. In democratic countries, how many types of heads are there to govern?
1. Four 2. Five 3. Two 4. Three

35. In modern time, democracy is considered as to be the best form of govt. Some
basic conditions are required for successful democracy. Which among the following
is not the basic requirement for democracy?

2. Enlightened citizens

2. Intelligent leaders

3. Tolerance

4. Rich citizens

36. Which statement is true?

Statement 1 - In a democratic country there are two types of heads- nominal and real.
Statement 2 - In our country, president is nominal head and state government has
governor as nominal head.

1. Statement 1 is true

2. Statement 2 is true.

3. Statement 1 and 2 are true.

4. Statement 1 and 2 are false.

37. Who is responsible for holding elections in India?
1. Prime Minister
2. Chief Justice of the Supreme Court



4. None of the above
38. What type of party system is in India?
1. Single party
2. Double party
3. Multi party
4. None of the above
39. Identify the given picture
1.E.V.M
~2.ATM _
3. Ballot box
4. V.V.P.AT

-40. You want to serve your country. Kccording to the laws of democracy, you have

made a group of people to achieve political goals. What do we call this group?

1 Candidate

2 Opposition party
3 Political party

4 None of the above




SOCIAL SCIENCE SAMPLE PAPER TERM-I (2021-22) CLASS: 9%
A YHs dget 351 J& i 40

1. AT T B392% Y A3 a9 v e/ O
1. 915 2. 9R 3. 3337 4. 393

2. AgHE &3 393 ¥ s T far ur § wamfenr famr 37
1. H&G JuT

2. g-HO qur

3. JI IuT

4. fegst f&9° det &t

3. 35 58 TEst S faosr aEs At Ot

Es 1: 793 € 13T IHES Aede A 3 e dawen i3 AY 3 Wie niarfoRsTs &1 Baret I
qEs 2 393 doit It § gox TB 2wt & fazSt 4 A

1. TE& 1 M3 TGS 2 At TS|

2. IS | M3 JES 2 TSI IS |

3. JE& 1 At I »i3 TS 2 B3 J|

4, IHS 1 IB3 I ™3 TES 2 AT I

4. mwmmwmwmwmwa

1. 2. nEIT 3. ABUT 4. Vst diffearg
5mmwmmmwmmmmm§»@
SSHMT & 3 fedler aoa a=t o Yuy FEfenr famr?

1. 15 g&Et 1948 E. 2. 25 g&E 1948 €I

3. 10 & 1950 . 4. 05 HEt 1960 €.

6. 399, 3T7EL, FET N3 YT T |

1. yIgst Eht faant 2. yagt Ehft famt

3, Nerst St fot 4. fegst f&9° et &t
7. 393 2 A san g it st yaas wdnit & ufoere &9:
1. ATAES W3 GeUe ygEs st

2. Gwag w3 We YAs uges st

| 3. 7AaE ni3 firerfea ugas st

4, frefsx m3 Gwag udgs St




5. far 3 Fes ofoor 3 2 fwnd  f i @ R e 3

1. JTEAYT-USSAE T 2. gfimiraus faefes
3. Juz fRefex 4, feg A

oly g ot 3 fanrm efonret fegarew 939 Tt 9o 31 fem Y usede, JIEEYS,
ifiSAT 3 335395 ¢ i w8 Ta1 fer U39 § 39 fan o &% wrfenr Ater 3 7

1. H&T 2. et 3. M 4, Ut
10. T3t 5 faw g7 3* gy Jet 37
1. Hoy=m 2. IHAES 3. TS 4, fagg

11. @ efgnret ¥ feoaed 839 § wiAt 9mg miuR gt wéﬁe’fﬁ’wﬁwﬁ%‘&a’?m#ﬁa”r
ot 7 3-7% Yoot § I R, ﬁnmﬂ#'«sﬂaﬁ%aﬁ?

1. "y=T 83T 2. 7% fegma
3. efomret o 4. Buda3 aTt &dt
12. ygRE 35z oEt w3 et A uT Bt RIS & 1986 T “dar moHs uEs® a@fenl Hs

2015 ¥ ¥eT Fea9 3 dar aet § AR JuT e HISTYTe SeH 9 i3 few e e de ¥
%WW&WWWlﬁHW?##ﬁ?

1. o<t 2. AS®H 3. 95" 4. fagen
. MIg-AH3T
13. I fofmit 4 fxosT €3ues o ATs &d1° 37
1. ot 2. fag3
3. Yvt 4. FH9
14. I5 fafimit RS fxat At wiorfas fafonr &dt 37
1. Het uss 2. HIdt UBE
3. Ug UBE 4, BIT

15. 35 fofimit 43 @01t Tt feRmaret & ufoers -

1. 87 &3 2 8H 5% &AW I J|

2. 87 #fins €8T

3. 87 §3utes ¥ Tel AU 89 3% A% I3 §3uEs a9 J1

4. Busa3 A

16. TAZ T 83uws 3 B ¥ feadt 796 I yuor @ gy 9 7 I w9 oSt At 9, @R off faor
Ater 1 |

1. M™HEs 2. Har 3. B3 4, T3

17. feg fafanret niow feerar 9 wrgnit w3 Aot @ yeo R A sdt w@dht i3 feast
fafaret ¥ IT5 5B MIHES YT 91 Jet TR feg faadhmt fafanrst Jeort 757

1. wirgfaa fafenmet 2. A9 niafax fafanret




bB.ﬁeTﬁs'a 4. diz 939
18. A3 fait o § B3 3 A forat a9 39 IR 75, Qo faw 3t & Agwardt N7

1. HAHt Sgwardt 2. Afgdt dgwart
3. U'g ggwarst 4. gt gt Sguardt
19. I5 faftmit 128" fam § Bgmare e Ater 37

1. 12 A =7 Ha7 2. 65 A% € ggddl
3. fanrg fenast 4. 42 A% T fen@st
20. AGHftmT T 3T I5 faftmit RY* fam 3 niofes 5t 37
1. gait i 2. datt fAo3

3. Afgdtaes 4. Qudaz It &t
| fefsom
21. Gordmit 3 e T ot S

1. Ugse 2. rusfig

3. Uerdendinr 4. AalmT

22. f¥3 a® oo R Gust efmret (aehn) @ aret & ufowrs a9, firgt § Mot &% eamrfenr
famr 3 - ~ '
1. A3%H, farmA, o<t
2. fAa, o<t, As®A
3. fiu, frosH, 9=
4, farrmr, faoem, fig

23. feg Arg & ufadt yrsa st midt 31 ferset s Uamg &g & 3¢t A feg yasa faodt 37
1. faaRke 2. g HAfigEt 3. HJ'E93 4. gft3r

24. yAyz & ufadt sIvet It
1. 1526 &t 2. 1571 &t 3. 1546 &t: 4. 1556 t:

25. guIBYg Bt gfdfentt gg i o9 9 et aE RO femes aus et AR Aol R ¢ Gowr §
forrs & Yyt 91 fer AEs 3 nifey faosr goeeer afenr dfenr 7

1. gferies mrfog 2. ¥9 Afog
3. 3U nAES 4. Ig7 Arfow

26.3% durdt f¥fx ¥t g2 Hed gy wt § Wasr der #ti uT g 7t 3w J9 5 ves § S
fonr| feT wesr faa weét wi?

1. TAS MITS 2. Har 3. aEE 4, UA<g




27. ‘st gt ot g9 fan gy Afoas 3 &St ?
1. I9 38k o< A 2. IF MHITH
3. IG THTH 4. IJF MIAS BS-A

28. JF viare ¥t 3 dffees b ¥ o w fomz aarfenr #itifem R Rt Thort gt
Tt T35
1. 108 2. 99 3. 84 4. 24

z&ggnnﬁewﬁagzmarémmaa‘a*waﬁ‘wna%MI fen &=t Gast 3 ity ganr
€ yI'9 YA ®Et Hift yar et 1Qust 38 s flghat ot Aerfuz Sttt ardinrt At

L12 2.22 3. 28 4,79

30. gg nigws < H € A IE:

1. »idET © AN 3. AT T AR

2. iy @ AR 4. Widawg T AN

31. g9 3w Afog T Aass e dH gg #t 3 »ifiSAT 33 faod Aoeq o ¥5 & o3 A7

1. IHAS 2. faewrAg 3. A3YAT 4 fegst &8 It &t

32. fygt de @ U3 3 g7 sox e it < AeH Anft & guwr dist At BRer ot F A#?

1. HI9E® 2. Hoe= 3.g9dfde 4. 9¢ A9
sIfe ATHST

33, Aga3 TTHST AW T 7oN dfenr: )

1. 24 MIITT, 1945 2. 24 A399, 1945

3. 24 &394, 1946 4. 24 TRYEY, 1946

34, fog ¥/ niEdtar = ufser 2@ At FiAd 1957 ~¥%E nlodwt aRdtere 3 vt Y ot

1. St&hor 2. eI

3. TS nigdtar 4, wrsT

35. ‘SHH’ fer 3T @ Haw Azt 3 gfenr J:

1. viardwt 2. STIAT

3. wrtat 4. gaTat

36. Iot 67 st RS BoSsy w9 fxoar aEs S 7
1. Bodag MEET °3 wrfas 3

2. B339 feniasters A9 § waltsl sa@er I

3. B339 {9 B § Iraisa fHftmr fisset T

4, B339 firzHa AUt @ I &9 31




37, 95 @ Ba 9t 3B wmidt ¥ e aMBfEE et § @R To I feRer o s 37

2. €8 3Tt 99 Iwalfsx v® I It 5t

3. §uwt § fere wd g3 A9 us fHeer 31

4. fegst 8" agt adt

38. 3t Hfeus & 427t Ay for A St ot

1. 1973 &. 2. 1974 &.

3. 1975 &, 4. 1976 .

39, wififer 3 ARV & Az T A e I faor fx “fan & gon § 393 9 I7 UaH FI9 &t
fosr fapr w3 AIT ¥ A ugHt § AHTs Wien famir 317 ¥R nifilar 3 grast dfeus & faodt
feRmsT °3 3ws fisr?

1. g33337 2. =339

3. q69 M3 BUAIS AfeU® 4, UIH foquuzT

40. A3 ¥\ w Hieus gz R ndat F feeest T tore's foor 1 ue ‘gadt Afeas e fusr
FaQz v WiE fang ofrs 31

1. ¥, 799 & &fag 2. 37. Ified yAe

3. AT B3 T UH 4, 37, 3tH 96 nigeaq




SAMPLE PAPER SOCIAL SCIENCE CLASS: 9™ 15T TERM
All questions are compulsory. Total Marks: 40
GEOGRAPHY
1. The seventh largest country of the world in area is
(a) China | (b) Russia (c) Canada (d) India

2. Which line is shown on the Map of India?

a. Tropic of Capricorn

b. Equator

c. Tropic of Cancer

d. None of these
3. Which of the following statements is correct?

Statement 1 - India shares maximum International boundary with Bangladesh and
minimum with Afghanistan.

Statement 2 — India shares International boundary with four countries.
a. Statement 1 and 2 are correct.

b. Statement 1 and 2 are incorrect.

C. Statement 1 is correct but 2 is incorrect.

D. Statement 1 is incorrect but 2 is correct.

4. This city of Punjab is famous for Iron Furnace industry:

(a) Batala _ (b) Abohar

(c) Jalandhar (d) Mandi Gobindgarh

5. The princely states of Punjab which included Patiala, Nabha, Malerkotla, Jind,
Kapurthala, Faridkot, Nalagarh and Kalsia were combined and a new state "PEPSU"
was formed on

a. 15]July 1948 b. 25 July 1948
c. 10June 1950 d. 5 May 1960

6. Bhabar, Tarai, Bangar and Khadar are

(a) Types of mountains (b) Types of plateaus

(c) Types of plains (d) None of these




« 1. Identify the mountain ranges shown in the given geographical map of India.
a. Zaskar and Dhauladhar '

b. Dhauladhar and Pir Panjal
c. Zaskar and Shivalik
d. Shivalik and Dhauladhar

8. The area between Beas and Satluj is also known as

(a) Gurdaspur-Pathankot Shivalik  (b) Hoshiarpur Shivalik

(c) Ropar Shivalik (d) All of these

9. The area between Ravi and Beas rivers in Punjab is called Bari Doab. It covers the
districts of Pathankot, Gurdaspur, Amritsar and Tarn Taran. By what other name is
this area known?

a. Malwa ' b. Doaba c. Majha - d. Patti

10. From which state does the Luni river originate?
a) Madhya Pardesh b) Rajasthan c) Jharkhand d) Bihar

11. The area between two rivers is called Doab .But what do we call an elevated area
of terrain that separates drainage basins into two parts?

a) Inflow area b) Water Divide

c) River Choa d) None of the above
12. To curb pollution and keep rivers clean, the government formulated the Ganga

Hction Plan in 1986. In 2015, the Union Government took important steps to keep the
river Ganga clean and included an important river of Punjab in this scheme. What is

the name of this river?

a. Ravi b. Sutlej c. Chenab d. Jhelum
ECONOMICS
13. Which of the following is not a factor of production?
a. Land b. Labour c. Capital d. Market
14. Which among the following is not an agricultural activity?
a. Fishing b. Poultry Farming c. Animal Husbandry d. Blacksmith

15. An entrepreneur has the following qualities.

a. He works for a profit

b. He bearsrisk

c. He makes coordination among the sources of production

d. All the above ,
16. What is the amount spent in terms of money from production of goods till their

sale called? ,
a. Income b. Demand c. Cost d. Price

17. What do we call the activities that do not contribute to the liquidity of goods and
services in economic system and do not provide income?

a. Economic Activities
b. Non-Economic Activities




- ¢. Tertiary Sector
d. Secondary Sector

18. If more number of people are engaged in a particular work than required, which
type of u:}employment is this?

a. Seasonal unemployment

b. Urban unemployment

c. Rural unemployment

d. Disguised unemployment

19. Who among the following is considered an unemployed?
‘a. 12 years old child

b. 65 yearsold

c. Sick person

d. 42 years old person

20. Quality of population does not depend on .
a. Good Health '

b. Good Education

c. Urbanisation

d. None of these

HISTORY

21. The name given by Greeks to Punjab was '

a) Panchnad b) Saptsindhu
¢) Pentapotamia d) Tseh-kia

22. In the given map, identify the rivers which are shown through points.

a. Sutlej, Beas, Ravi
b. Indus, Ravi, Sutlej

c. Indus, Jhelum, Chenab

d. Beas, Jhelum, Indus

23. This is considered the very first book of the world. It was written in Punjab. Which
- is this book?

a. Rigveda b. Manu Samriti c. Mahabharata d. Gita
24. The first battle of Panipat was fought in .

(a) 1526 A.D. (b) 1571 A.D.

(c) 1546 A.D. (d) 1561 A.D.

25. While living in Sultanpur Lodhi, Guru Nanak Dev ji used to take bath in ‘Kali
Bein’ River, where he got enlightenment. Which Gurudwara is situated here?

a. Shri Harmandir Sahib b. Ber Sahib




-

c. Tap Asthan d. Hajoor Sahib

26. Vali Kandhari threw a big stone to kill Sri Guru Nanak Dev Ji. But, Guru Ji stopped
it with his hand. Where did this incidence occur?

a. Hasan Abdal b. Mecca c. Baghdad d. Peshawar

21. Laavan' bani was composed by

@) Gu.m Nanak Dev Ji (b) Guru Amar Das Ji
(c) Guru Ramdas Ji (d) Guru Arjan Dev ji

28. Guru Angad Dev Ji got constructed a Baoli at Goindwal. How many steps are
there?

a. 108 b. 99 c.84 d. 24

29. Due to old age, Guru Amardas Ji was not able to move to every place. He founded
the Manji System to preach Sikhism. How many Manjis were established?

a. 12 b .22 c. 28 d.79

30. Guru Arjan Dev Ji was martyred during the reign of

(a) Akbar (b) Jahangir

(c) Humayun | (d) Aurangzeb

31. Near which sarovar in Amzritsar was the compilation of Guru Granth Sahib done?
a. Ramsar b. Riwalsar c. Santokhsar d. None of these

32. Pirthi Chand’s son composed ‘Janam Sakhi’ of Guru Nanak Dev Ji. What was his
name?

a. Meharban  b. Mahadev c. Hargobind d. Chandu Shah
CIVICS

33. United Nations Organization was established on:

(a) 24 Oct, 1945 (b) 24 Sept, 1945

(c) 24 Nov, 1946 (d) 24 Dec, 1946

34. This was the first country of Africa to get independence in 1957 from British
Colonialism.

a) Kenya b. Nigeria
c. South Africa d) Ghana
35. The word ‘Democracy’ has been derived from two woxds of language.

(a) English (b) Persian (c) Latin (d) Greek




~ 36. Which of the following statement is wrong about ‘Democracy’?
a. Democracy is based on equality
b. Democracy ensures the protection of individual liberty.
c. Democracy provides more opportunities for political awareness.
d. Democracy is in favour of violence.
31. The citizens of China always vote for the Communist Party. What is the reason for
it?
a. They do not like any other political party.
b. There is no other political party in China.
c. They get lots of money for this.
d. None of the above.

38. 42* amendment of Indian Constitution was done in
(a) 1973 (b) 1974 (c) 1975 (d) 1976

39. Anshika while giving a speech in the morning assembly said, “None of the
religions in India is stated as official religion and all the religions are equal in the
eyes of the government.” On which feature of Indian Constitution has Anshika given

the speech?

a. Freedom

b. Republic

c. Rigid and flexible constitution
d. Secularism

40. Many scholars have contributed in the framing of the Indian constitution. But,
only one person is called ‘The Father of Indian Constitution’. Who is he?

a. Pandit Jawaharlal Nehru

b. Dr. Rajindra Prasad

c. Sardar Vallabh Bhai Patel

d. Dr. B.R. Ambedkar




